Daily Quiz
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01 be subject to 06 AE BOIA| x|t
02 appeal to 07 ~E <t

03 owing to 08 ~0i| MEE|Ct
04 be dedicated to 09 ~Of &5t

05 attend to 10 ~0f 25§ ALk
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give rise to yield to occur to
turn to refer to respond to
11 Please visit our homepage or the notice on the bulletin board.
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12 New technologies have more convenient means of payment.
M2R 71252 CS Ha[oh ZX| £EH0| 47| L.
13 It me that we could achieve more if we all embraced our
differences.
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14 Drivers should pedestrians in marked crosswalks.
20X = EAIE FHE Z0|M 2lXI0]|H| FEBHOf ot
15 All my frustration pity.
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05 ~2 X{2[3iCt, ~2| A|Z2 SCt, ~0f F2|E 7|20[ct 06 owe Ato B 07 give birth to 08 apply to 09 belongto 10 be confined to
11referto 12givenriseto 13 occurredto 14yieldto 15 turned to
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